
 
 

RBW  1 MHz

VBW  1 MHz

 18 dB Offset
 A 

IN1

Unit dBV

TRG

SWT  2 s

P20

TDS

Ref Lvl

 100 dBV

Ref Lvl

 100 dBV

RF Att  10 dB

Center 369.5 MHz 200 ms/

1VIEW
D1 6

1MA

   10

   20

   30

   40

   50

   60

   70

   80

   90

    0

  100

1 1

Delta 1 [T1]        

            0.83 dB 

        1.014028 s  

1 [T1]       36.45 dBV

          561.122244 ms 

1 [T1]         0.83 dB 

            1.014028 s  

D1 63.22 dBV

T1

Date:      17.NOV.2010  16:38:36  
 

Plot Showing Entire Pulse Train 
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Plot Showing Highest 100 mS Period 
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Time of Pulse = 36.072144 mS 
 

Total Duty Cycle = 36.072144 mS / 100 mS = 36.07% 
 
 


